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Figure S1 Design of each layer of the dELISA. Layers are currently assembled by hand with the aid of a cold-press 
laminator. During assembly, the marked section on layer 4 of DSA is cut out to complete the connection in the channel. 
The DSA material that is cut is included initially to hold all layers together.

Figure S2 The signal and noise (blank) values used to generate Fig. 3 in the main text. 
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4-Parameter Logistic model used to fit the data from the dose-response curve. Y is the signal, x is the target 
concentration, a is the expected response (Y) at x=0, b is the slope of the curve at point c, which is the target 
concentration that corresponding to Y=(a+d)/2, and d is the expected response when the target concentration 
is infinitely high (Assuming no hook effect).

                               (Eq S1)

𝑌= 𝑑+
𝑎 ‒ 𝑑

1 + (𝑥𝑐)𝑏

The equation used to calculate the detection limit from the 4-parameter logistic fit. Parameters a, b, c, and 
d are defined in Equation S1 above. SDb is the standard deviation of the blank and Rb is the response or 
signal of the blank.

                      (Eq S2)
𝐿𝑂𝐷= 𝑐 × (( (𝑎 ‒ 𝑑)

(3 ∙ 𝑆𝐷𝑏+ 𝑅𝑏) ‒ 𝑑) ‒ 1)
1
𝑏


